ON SOLUTIONS OF $x'' = t^{-2}x^{1+\alpha}$ WITH $\alpha < 0$

By

Ichiro Tsukamoto

(Received January 16, 2018; Revised April 30, 2018)

Abstract. As a continuation work, we consider a second order nonlinear differential equation denoted in the title. We show the domains of its solutions and have analytical expressions valid in the neighbourhoods of the ends of these domains. In this way, we clarify asymptotic behaviour of all solutions. We then find a regulary varying solution and represent this with the help of an asymptotic expansion of a solution of a nonlinear differential equation with an irregular singular point.

1. Introduction

In the papers [8, 9, 11, 13, 14, 16, 17, 18], we treat a second order nonlinear differential equation

$$x'' = t^{\alpha\lambda - 2} x^{1+\alpha} \quad (\ ' = d/dt) \tag{E}$$

where t, x are positive variables and α, λ are real parameters. As stated in those papers, it is valuable to solve this, for this can be applied to many other fields and many authors treat this or its general types (see [2, 4, 5, 6, 7, 19, etc.]). Also, (E) has a remarkable property that (E) can be transformed into a first order rational differential equation. This property was first discovered in [8] and using this property, we have investigated asymptotic behaviour of all solutions of (E).

However, in the case $\alpha < 0$ we treated only the following cases:

(i) $\lambda_0 < \alpha < 0, \ \lambda < -1, \ \lambda > 0,$ (ii) $\alpha = \lambda_0, \ \lambda < -1, \ \lambda > 0$

where $\lambda_0 = -(2\lambda + 1)^2/4\lambda(\lambda + 1)$. So we here consider the case $\alpha < 0$, $\lambda = 0$, namely

$$x'' = t^{-2} x^{1+\alpha} \quad (\alpha < 0). \tag{E_0}$$

In this case, the transformation and the rational differential equation which we

²⁰¹⁰ Mathematics Subject Classification: Primary 34D05; Secondary 34E05

Key words and phrases: Second order nonlinear differential equation, Asymptotic behaviour, Analytical expressions

I. TSUKAMOTO

use have singular forms, and so we cannot treat this case and another case simultaneously.

We state the asymptotic behaviour of all solutions of (E_0) as our theorems in Section 2. The proofs of these are carried out in Section 3. In these proofs, (E_0) is shown to admit a slowly varying solution. For expressing this solution, we use an asymptotic expansion of a solution of a nonliner differential equation in the complex domain with an irregular singlular point. Here we say that a function x(t) is regularly varying of index k if

$$\lim_{t \to \infty} \frac{x(\gamma t)}{x(t)} = \gamma^k$$

for all $\gamma > 0$ and in particular, slowly varying if k = 0 ([1]). In this paper, the solution is said to be slowly varying as $t \to +0$ instead of $t \to \infty$.

For completing those proofs, it is sufficient to follow the discussion of [14] and so we state only the outlines, except the discussion on the slowly varying solution.

Finally, we note that the asymptotic behaviour of the solutions of (E) of the case $\lambda = -1$ is known directly from our conclusions via the transformation $(t, x) \rightarrow (1/t, x/t)$ of Panayotounakos and Sotiropoulos ([7]) and that this equation has a regularly varying solution of index 1.

2. Statement of our theorems

Let us consider (E_0) . First, put

$$y = x^{\alpha}, \quad z = ty'. \tag{T}$$

Then we have y > 0, for x is a positive variable. Also, we get

$$\frac{dz}{dy} = \frac{(\alpha - 1)z^2 + \alpha yz + \alpha^2 y^3}{\alpha yz} \tag{R}$$

which is rewritten as a two dimensional autonomous system

$$\frac{dy}{ds} = \alpha yz \quad \frac{dz}{ds} = (\alpha - 1)z^2 + \alpha yz + \alpha^2 y^3 \tag{S}$$

where s is a parameter. (R), (S) are the same as (2.10), (2.11) of [14] respectively. The critical point of (S) is only the origin in the region $y \ge 0$. As shown below, the phase portrait of (S) is as in Figure.



Figure The phase portrait of (S)

In this figure, O_{\pm} denote the unique orbits such that

$$z = \pm \alpha \sqrt{\frac{2}{\alpha + 2}} y^{3/2} \left(1 + \sum_{n=1}^{\infty} z_n y^{-n/2} \right)$$
(2.1)

in the neighbourhood of $y = \infty$, where z_n are constants. The orbits lying above O_+ or below O_- are represented as

$$z = \Gamma^{-1} y^{(\alpha-1)/\alpha} \left\{ 1 + \sum_{m+n>0} z_{mn} y^{-(1/2)m + ((\alpha+2)/2\alpha)n} \right\}$$
(2.2)

in the neighbourhood of $y = \infty$, where Γ , z_{mn} are constants. If the orbit tends to the origin in z > 0, then this orbit is represented as

$$z = -\alpha y^2 \left(1 + \sum_{n=1}^{N-1} z_n y^n + O(y^N) \right) \quad \text{as } y \to 0$$
 (2.3)

where N is any integer (≥ 2) and z_n are constants, and if the orbit tends to the origin in z < 0, then as

$$z = \alpha y \left[1 + \sum_{m+n>0} w_{mn} y^m \left\{ y^{-1/\alpha} (h \log y + C) \right\}^n \right]$$
(2.4)

in the neighbourhood of y = 0, where w_{mn} , h, C are constants and h = 0 if $-1/\alpha \notin \mathbb{N}$.

Now, given an initial condition

$$x(t_0) = A, \ x'(t_0) = B \quad (0 < t_0 < \infty, \ 0 < A < \infty, \ -\infty < B < \infty),$$
 (I)

we denote the solution of the initial value problem (E_0) , (I) as x = x(t). From x(t) we have a solution z = z(y) of (R) with the initial condition

$$z(y_0) = z_0$$
 (2.5)

where

$$y_0 = A^{\alpha}, \ z_0 = \alpha t_0 A^{\alpha - 1} B_s$$

for we get

$$y = x^{\alpha}, \ z = \alpha t x^{\alpha - 1} x'$$

from (T) and $(y, z) = (y_0, z_0)$ if $t = t_0$. Also, from x(t) we have an orbit (y, z) of (S) passing (y_0, z_0) . Conversely, via (T) we get the solution x(t) of (E_0) , (I) from the solution z(y) of (R) with (2.5) or from the orbit (y, z) of (S) passing (y_0, z_0) .

So, taking (t_0, A, B) of (I) and depending on where (y_0, z_0) lies, we state the asymptotic behaviour of x(t). First, suppose $-2 < \alpha < 0$.

THEOREM 1. If $(y_0, z_0) \in O_+$, then x(t) is defined for $0 < t < \omega_+$ (here and hereafter, ω_+ denotes some positive constant). Also, x(t) is represented as the following asymptotic expansion:

$$x(t) = (\alpha \log t + C)^{-1/\alpha} \left[1 + \sum_{0 < m+n \le N} x_{mn} (\alpha \log t + C)^{-m} \times \left\{ (\alpha \log t + C)^{-1} \log(\alpha \log t + C) \right\}^n + O((\alpha \log t)^{-N}) \right]$$
(2.6)

as $t \to +0$, where C, x_{mn} are constants, N is any integer (≥ 2), and $x_{N0} = 0$, and as

$$x(t) = \left\{\frac{2(\alpha+2)\omega_{+}^{2}}{\alpha^{2}}\right\}^{1/\alpha} (\omega_{+}-t)^{-2/\alpha} \left\{1 + \sum_{n=1}^{\infty} x_{n}(\omega_{+}-t)^{n}\right\}$$
(2.7)

in the neighbourhood of $t = \omega_+$, where x_n are constants.

Note that (2.6) is the slowly varying solution of (E_0) .

THEOREM 2. If (y_0, z_0) lies in the region above O_+ , then x(t) is defined for $0 < t < \omega_+$. Moreover x(t) is represented as (2.6) as $t \to +0$, and as

$$x(t) = K(\omega_{+} - t) \left\{ 1 + \sum_{m+n>0} x_{mn} \times (\omega_{+} - t)^{-(\alpha/2)m} (\omega_{+} - t)^{((\alpha+2)/2)n} \right\}$$
(2.8)

in the neighbourhood of $t = \omega_+$, where K, x_{mn} are constants.

THEOREM 3. If (y_0, z_0) lies in the region between O_+ and O_- , then x(t) is defined for $0 < t < \infty$. Also, x(t) is expressed as (2.6) as $t \to +0$, and as

$$x(t) = Kt \left(1 + \sum_{m+n>0} x_{mn} t^{\alpha m-n} \right) \quad if \ -1/\alpha \notin \mathbb{N}$$
(2.9)

$$x(t) = Kt \left(1 + \sum_{k=1}^{\infty} t^{\alpha k} p_k(\log t) \right) \quad if \ -1/\alpha \in \mathbb{N}$$
 (2.10)

in the neighbourhood of $t = \infty$, where K, x_{mn} are constants and p_k are polynomials with deg $p_k \leq [-\alpha k]$.

THEOREM 4. If $(y_0, z_0) \in O_-$, then x(t) is defined for $\omega_- < t < \infty$ (here and hereafter, ω_- denotes some positive constant). Moreover x(t) is represented as

$$x(t) = \left\{\frac{2(\alpha+2)\omega_{-}^{2}}{\alpha^{2}}\right\}^{1/\alpha} (t-\omega_{-})^{-2/\alpha} \left\{1 + \sum_{n=1}^{\infty} x_{n}(t-\omega_{-})^{n}\right\}$$
(2.11)

in the neighbourhood of $t = \omega_{-}$ where x_n are constants, and as (2.9), (2.10) in the neighbourhood of $t = \infty$.

THEOREM 5. If (y_0, z_0) lies in the region below O_- , then x(t) is defined for $\omega_- < t < \infty$. Also, in the neighbourhood of $t = \omega_-$, x(t) is represented as

$$x(t) = K(t - \omega_{-}) \left\{ 1 + \sum_{m+n>0} x_{mn} \times (t - \omega_{-})^{-(\alpha/2)m} (t - \omega_{-})^{((\alpha+2)/2)n} \right\}$$
(2.12)

where K, x_{mn} are constants, and in the neighbourhood of $t = \infty$, as (2.9), (2.10).

Next, suppose $\alpha \leq -2$. Then we have the following:

THEOREM 6. The conclusion of Theorem 3 follows for all (y_0, z_0) .

3. Proofs of our theorems

For the proofs, let us follow the discussion of [14]. First, put

$$w = y^{-2}z$$

in (R). Then we have

$$\frac{dw}{dy} = \frac{\alpha^2 + \alpha w - (\alpha + 1)yw^2}{\alpha y^2 w}.$$
(3.1)

If γ denotes an accumulation point of a solution of (3.1) as $y \to 0$, then we get

$$\gamma = -\alpha, \pm \infty$$

from Lemma 3.1 of [14]. We here postpone the discussion on the case $\gamma = -\alpha$. If $\gamma = \pm \infty$, then we have (2.4) in the neighbourhood of y = 0 from Lemma 2.5 of [12] and the proof of Lemma 3.3 of [14] (and eventually we have $\gamma = -\infty$). If we follow the discussion of Section 3 of [9], then from (2.4) we get (2.9), (2.10) in the neighbourhood of $t = \infty$.

Next, let us consider the case when y does not tend to 0. Following Section 4 of [14], we then conclude that $y \to \infty$, $z \to \pm \infty$ as s tends to the end of the domain of the orbit (y, z). Also, if we put $y = 1/\eta$, $z = 1/\zeta$ and $\theta = \eta^{-3/2}\zeta$, $\xi = \eta^{1/2}$, then we have

$$\xi \frac{d\theta}{d\xi} = -\frac{\alpha + 2}{\alpha}\theta + 2\xi\theta^2 + 2\alpha\theta^3.$$
(3.2)

Let δ be an accumulation point of a solution of (3.2) as $\xi \to 0$ (namely, $y \to \infty$). If $-2 < \alpha < 0$, then we get

$$\delta = 0, \pm \rho \quad \left(\rho = \frac{1}{\alpha}\sqrt{\frac{\alpha+2}{2}}\right)$$

and if $\alpha \leq -2$, then there exists no δ , namely y always tends to 0 as s tends to the end of the domain of (y, z) (see the proof of Lemma 7.1 of [16]).

Suppose $-2 < \alpha < 0$. If $\delta = 0$, then from Section 5 of [9] we have (2.2) and from this, (2.7), (2.11) if z > 0, z < 0 respectively. In fact, y is increasing in tas z > 0 and decreasing in t as z < 0 from z = ty' of (T). Also if $\delta = \pm \rho$, then from Lemma 2.5 of [12] and the proof of Lemma 4.4 of [14] we get (2.1) and from this, (2.8), (2.12) if z > 0, z < 0, respectively. Here we draw the phase portrait of (S) as in Figure from considering γ , δ of (3.1), (3.2) and the direction of the orbit of (S) (see Section 4 of [14]).

Finally, let us discuss the case $\gamma = -\alpha$ in (3.1). In this case, put $\theta = w + \alpha$. Then we have

$$y^2 \frac{d\theta}{dy} = (\alpha + 1)y - \frac{\theta}{\alpha} + \cdots$$
 (3.3)

and $\theta \to 0$ as $y \to 0$.

We really have such θ from the orbits tending to the origin in z > 0. So, we consider the nonlinear differential equation

$$x^{\sigma+1}\frac{dy}{dx} = f(x,y) \tag{3.4}$$

with an irregular singular point, more generally. Here x, y are complex variables, $\sigma \in \mathbb{N}$, and f(x, y) is a holomorphic function in the neighbourhood of (x, y) = (0, 0) such that

$$f(x,y) = ax + \lambda y + \sum_{j+k \ge 2} a_{jk} x^j y^k$$

(a, λ , a_{jk} : constants, $\lambda \ne 0$).

LEMMA. If (3.4) has a solution y(x) tending to 0 as $x \to 0$ along a line ℓ in a sector

$$-\frac{\pi}{2} < \sigma \arg x - \arg \lambda < \frac{\pi}{2},$$

then we have

$$y(x) = \sum_{j=1}^{N-1} p_j x^j + O(x^N) \quad (p_j : constants)$$

as $x \to 0$ along ℓ . Here N is any integer (≥ 2) .

Proof. We first follow the discussion of [3] (Sections 4, 6 of Chapter III) and use a formal transformation

$$y = \sum_{j+k>0} p_{jk} x^j \eta^k \quad (p_{jk} : \text{constants with } p_{01} = 1)$$

which reduces (3.4) to

$$x^{\sigma+1}\eta' = \eta \sum_{j=0}^{\sigma} \alpha_j x^j$$

where $\alpha_0 = \lambda$, α_j are constants and ' = d/dx. From this, we have

$$\eta = C x^{\alpha_{\sigma}} e^{\Lambda(x)} \quad \left(C : \text{a constant}, \ \Lambda(x) = \sum_{j=0}^{\sigma-1} \frac{\alpha_j}{j-\sigma} x^{j-\sigma} \right).$$

Next, we put

$$y = z + P_N(x,\eta), \quad P_N(x,\eta) = \sum_{j+k < N} p_{jk} x^j \eta^k$$

and have

$$x^{\sigma+1}z' = g_N(x,\eta,z)$$
 (3.5)

where

$$g_N(x,\eta,z) = f(x,z+P_N(x,\eta)) - \sum_{j+k < N} j p_{jk} x^{j+\sigma} \eta^k - \sum_{j+k < N} k p_{jk} x^j \eta^k \sum_{J=0}^{\sigma} \alpha_J x^J.$$

Also, if we put

$$g_N(x,\eta,z) = \sum_{j+k+l>0} b_{jkl} x^j \eta^k z^l$$

then we have

$$b_{001} = \lambda, \ b_{jk0} = 0 \ (j+k < N),$$

for (3.5) has a formal solution

$$z = \sum_{j+k \ge N} p_{jk} x^j \eta^k.$$

Now, let us start our discussion. For sufficiently small |x| we have

$$\frac{\pi}{2} < \arg \Lambda(x) < \frac{3}{2}\pi,$$

that is,

 $\operatorname{Re}\Lambda(x) < 0,$

since ℓ lies in $-\pi/2 < \sigma \arg x - \arg \lambda < \pi/2$. Hence as $x \to 0$ along ℓ we have

$$\eta \to 0, \quad x^{-1}\eta \to 0.$$

On the other hand, we get $z = z(x) \to 0$ as $x \to 0$ along ℓ from the assumption $y(x) \to 0$. Therefore we have

$$g_N(x,\eta,z) = \hat{\lambda}(x)z + h_N(x)$$

where $\hat{\lambda}(x)$ is a holomorphic function of $x \neq 0$, $h_N(x)$ is that of x, and

$$\hat{\lambda}(x) \to \lambda, \quad \frac{h_N(x)}{x^N} \to b_{N00} \quad \text{as } x \to 0 \text{ along } \ell.$$

Hence from (3.5) we have

$$z = e^{\int_{x_0}^x \hat{\lambda}(x)x^{-\sigma-1}dx} \left(\int_{x_0}^x h_N(x)x^{-\sigma-1}e^{-\int_{x_0}^x \hat{\lambda}(x)x^{-\sigma-1}dx}dx + C \right)$$

where x_0 is a nonzero constant on ℓ , C is a constant, and the paths of integration are a segment connecting 0 and x_0 . Therefore if we put $x = re^{i\theta}$, $x_0 = r_0e^{i\theta_0}$, $\lambda = \rho e^{i\omega}$ then θ is constant and

$$\operatorname{Re} \int_{x_0}^x \hat{\lambda}(x) x^{-\sigma-1} dx = \int_{r_0}^r \tilde{\lambda}(r,\theta) r^{-\sigma-1} dr$$

where

$$\tilde{\lambda}(r,\theta) = \operatorname{Re} \hat{\lambda}(x) \cos \sigma \theta + \operatorname{Im} \hat{\lambda}(x) \sin \sigma \theta.$$

Hence we have

$$|z| \leq e^{\operatorname{Re} \int_{x_0}^x \hat{\lambda}(x)x^{-\sigma-1}dx} \left(\left| \int_{r_0}^r |h_N(x)| r^{-\sigma-1} e^{-\operatorname{Re} \int_{r_0}^r \hat{\lambda}(x)x^{-\sigma-1}dx} dr \right| + |C| \right)$$

= $e^{\int_{r_0}^r \tilde{\lambda}(r,\theta)r^{-\sigma-1}dr} \left(\left| \int_{r_0}^r |h_N(x)| r^{-\sigma-1} e^{-\int_{r_0}^r \tilde{\lambda}(r,\theta)r^{-\sigma-1}dr} dr \right| + |C| \right).$

Since $\hat{\lambda}(x) \to \lambda$, we get

$$\tilde{\lambda}(r,\theta) \to \rho \cos(\omega - \sigma \theta) \quad \text{as } r \to 0$$

and

$$\tilde{\lambda}(r,\theta) > \frac{\rho}{2}\cos(\omega - \sigma\theta) > 0$$

for sufficiently small r. Here, suppose $r < r_0$. Then for sufficiently small r_0 we have

$$\int_{r_0}^r \tilde{\lambda}(r,\theta) r^{-\sigma-1} dr < \left\{ \frac{\rho}{2} \cos(\omega - \sigma\theta) \right\} \left(-\frac{r^{-\sigma}}{\sigma} + \frac{r_0^{-\sigma}}{\sigma} \right) \to -\infty \quad \text{as } r \to 0.$$

Hence from l'Hospital's theorem we get

$$\frac{\int_{r_0}^r |h_N(x)| r^{-\sigma-1} e^{-\int_{r_0}^r \tilde{\lambda}(r,\theta) r^{-\sigma-1} dr} dr}{r^N e^{-\int_{r_0}^r \tilde{\lambda}(r,\theta) r^{-\sigma-1} dr}} \to -\frac{b_{N00}}{\rho \cos(\omega - \sigma \theta)},$$

which implies

$$z = O(x^N)$$
 as $x \to 0$ along ℓ .

Therefore it completes the proof to put $p_j = p_{j0}$, for $x^{-1}\eta \to 0$ as $x \to 0$ along ℓ .

If we put $\lambda = -1/\alpha (> 0)$, $\sigma = 1$, x = y(> 0), $y = \theta$ in (3.4), then we have (3.3) and may take $\sigma \arg x - \arg \lambda = 0$. Hence from this lemma, we get

$$\theta = \sum_{n=1}^{N-1} \theta_n y^n + O(y^N) \quad \text{as } y \to 0$$

where θ_n are constants and $\theta_1 = \alpha(\alpha + 1)$. Since $\theta = w + \alpha$, $w = y^{-2}z$, we have

$$w = -\alpha + \sum_{n=1}^{N-1} \theta_n y^n + O(y^N)$$

and (2.3). Also, from (T) we get

$$ty' = -\alpha y^2 \left(1 + \sum_{n=1}^{N-1} \tilde{\theta}_n y^n + O(y^N) \right) \quad \left(\tilde{\theta}_n = -\frac{\theta_n}{\alpha} \right).$$

Solving this, we have

$$-y^{-1} + (\alpha + 1)\log y + \sum_{n=2}^{N-1} \hat{\theta}_n y^{n-1} + O(y^{N-1})$$

= $-\alpha \log t - C \quad (\hat{\theta}_n, C : \text{constants})$

and from this,

$$y\left\{1 + \sum_{0 < m+n \le N} a_{mn} y^m (y \log y)^n\right\} (1 + O(y^N)) = (\alpha \log t + C)^{-1}$$

where a_{mn} are constants. As $y \to +0$, we get $t \to +0$ and

$$\frac{y}{(\alpha \log t)^{-1}} \to 1.$$

Hence we have

$$O(y^N) = O((\alpha \log t)^{-N})$$

and

$$y \left\{ 1 + \sum_{0 < m+n \le N} a_{mn} y^m (y \log y)^n \right\}$$

= $(\alpha \log t + C)^{-1} \{ 1 + O((\alpha \log t)^{-N}) \}.$ (3.6)

Taking the logarithms of both sides, we get

$$\log y + \sum_{m+n>0} \tilde{a}_{mn} y^m (y \log y)^n = -\log(\alpha \log t + C) + O((\alpha \log t)^{-N}) \quad (\tilde{a}_{mn} : \text{constants})$$
(3.7)

and multiplying (3.6) with (3.7),

$$y \log y + \sum_{m+n>1} \hat{a}_{mn} y^m (y \log y)^n = -(\alpha \log t + C)^{-1} \log(\alpha \log t + C) + O((\alpha \log t)^{-N-1} \log(\alpha \log t))$$

(\hat{a}_{mn} : constants). (3.8)

Note that the left hand sides of (3.6), (3.8) are functions of y, $y \log y$. Then applying the inverse function theorem to (3.6), (3.8), we determine y, $y \log y$ and in particular we have

$$y = (\alpha \log t + C)^{-1} \left[1 + \sum_{0 < m+n \le N} b_{mn} (\alpha \log t + C)^{-m} \times \{ (\alpha \log t + C)^{-1} \log(\alpha \log t + C) \}^n + O((\alpha \log t)^{-N}) \right]$$

(b_{mn} : constants).

This implies (2.6) from (T). Now the proofs are complete.

References

- N. H. Bingham, C. M. Goldie and J. L. Teugels, Regular Variation, Encyclopedia of Mathematics and its Applications, 27, Cambridge University Press, 1987.
- [2] E. Herlt and H. Stephani, Invariance transformations of the class $y'' = F(x)y^n$ of differential equations. J. Math. Phys., **33** (1992), 3983–3988.
- [3] M. Hukuhara, T. Kimura and T. Matuda, Équations Différentielles Ordinaires du Premier Ordre dans le Champ Complexe. Publ. Math. Soc. Japan, 1961.
- [4] T. Kusano and C. A. Swanson, Asymptotic theory of singular semilinear elliptic equations. Canad. Math. Bull., 27 (1984), 223–232.
- [5] P. G. L. Leach, R. Maartens and S. D. Maharaj, Self-similar solutions of the generalized Emden-Fowler equation. Int. J. Non-Linear Mechanics, 27 (1992), 575–582.
- [6] O. Mustafa, On t²-like solutions of certain second order differential equations. Ann. Mat. Pura. Appl., 187 (2008), 187–196.
- [7] D. E. Panayotounakos and N. Sotiropoulos, Exact analytic solutions of unsolvable classes of first- and second-order nonlinear ODEs (Part II: Emden-Fowler and relative equations). Appl. Math. Lett., 18 (2005), 367–374.
- [8] T. Saito, On bounded solutions of $x'' = t^{\beta} x^{1+\alpha}$. Tokyo J. Math., 1 (1978), 57–75.
- [9] T. Saito, Solutions of $x'' = t^{\alpha\lambda-2}x^{1+\alpha}$ with movable singularity. Tokyo J. Math., 2 (1979), 262–283.
- [10] S. D. Taliaferro, Asymptotic behavior of solutions of $y'' = \phi(t)y^{\lambda}$. J. Math. Anal. Appl., 66 (1978), 95–134.
- [11] I. Tsukamoto, On the generalized Thomas-Fermi differential equations and applicability of Saito's transformation. *Tokyo J. Math.*, **20** (1997), 107–121.

I. TSUKAMOTO

- [12] I. Tsukamoto, Asymptotic behavior of solutions of $x'' = e^{\alpha \lambda t} x^{1+\alpha}$ where $-1 < \alpha < 0$. Osaka J. Math., **40** (2003), 595–620.
- [13] I. Tsukamoto, On solutions of $x'' = t^{\alpha\lambda-2}x^{1+\alpha}$ starting at some positive t. Hokkaido Math. J., **32** (2003), 523–538.
- [14] I. Tsukamoto, On solutions of $x'' = t^{\alpha\lambda-2}x^{1+\alpha}$ where $\alpha > 0$ and $\lambda = 0, -1$. Hokkaido Math. J., **35** (2006), 41–60.
- [15] I. Tsukamoto, On asymptotic behavior of positive solutions of $x'' = -t^{\alpha\lambda-2} x^{1+\alpha}$ with $\alpha < 0$ and $\lambda = 0, -1$. Hokkaido Math. J., **38** (2009), 153–175.
- [16] I. Tsukamoto, Asymptotic behavior of positive solutions of $x'' = t^{\alpha\lambda-2}x^{1+\alpha}$ in the sublinear case. Tokyo J. Math., **33** (2010), 195–221.
- [17] I. Tsukamoto, On asymptotic behavior of positive solutions of $x'' = t^{\alpha\lambda-2} x^{1+\alpha}$ in the superlinear case. Far East J. Math. Sci., **45** (2010), 1–16.
- [18] I. Tsukamoto, Asymptotic behaviour of positive solutions of $x^{"} = t^{\alpha\lambda-2}x^{1+\alpha}$ where $\alpha = \lambda_0$ and $\lambda > 0$. Comment. Math. Univ. St. Pauli, **65** (2016), 15–34.
- [19] H. Usami, Asymptotic behavior of positive solutions of singular Emden-Fowler type equations. J. Math. Soc. Japan, 46 (1994), 195–211.

3-10-38 Higashi-kamagaya

Kamagaya-shi, Chiba 273-0104, Japan E-mail: kf423825@fc5.so-net.ne.jp